(syngodu-3) GziX5z) DHNWIDYU BDHIYDWAOU EDMIVOG %%ZVy VND@

S
3| =
9 5 . S b
E S NI =~ IS
S S
) S sl -
IS ) S
Q
X N
S S N
£6 QD 2t @ S 3N
A > R X xR
A_“ N RN AN RN RN NN RN 3 S 3| 2
DWIdW £ ‘QuIo % DWIdW £ m M M W W
7' SW 27 ) 3 x 2 T <[5
N S So¥ 2
sl |3 (3O
S| [S S -
< N [0
2
S
g
=
LQ SN
=
IR
o w] w] Mmm,m. MMW
L S . E N RS RS
X 7m 3m
wn 7 7 ~
N a : zs (€] T2
Y & o
| I mr W @ ),
-l <o _ L _ R ]
I S .+| ) aaIE (© @ @ I».
o N | ~
i @b»@!@ SRGIORS GRCRe
| ___ﬁ.i_}.{i
N o+1o--ot o .
\Q | | S =8
_ |-1ﬂ@ |@ @ - @|+@ |m0ﬁ,7,ﬂ
LQ _ \_/ : L/ \_Jr.\ o WD
§ ot1otortos
. ! _ Ao ! | ! |
_d | | | |
OO D OO B ®
m @A@%%-___-_@ﬂ
N @ | | 7N
L |9e 0@ e l©
s © Oy
- ’
o)
7 x 0Z
2 B €0
> 209
N 9708
~ 9001
LQ
‘Hawndu ‘gdayy N gpduy pDwop n upoj/ vohp sN ‘gHY |sN ‘gHn ‘WDeg pwop n "ugoy/ vpou sN "gHY




	DRW1
	Чертежный вид11
	Разрез А-А
	Разрез Б-Б


